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U.G. 3rd Semester Examination-2024
ENGLISH

[PROGRAMME]
Language Core Course (LCC)
Course Code : ENGP-LCC-T-11
[CBCS]
Full Marks : 60 : : Time : 24 Hours

GUIDELINES FOR FILLING UP QUESTION CUM ANSWER BOOKLET

e Candidates will be provided with a Question cum Answer Booklet.

e The booklet contain 35 multiple choice questions, each carrying 2 marks. Candidate
will attempt 30 questions from the following (MCQ).

e Candidates must fill up his/her Roll Number in his/her booklet.
e Do not make any stray mark/s on the Answer Booklet.

e At the end of the examination please return the Answer Booklet to the Invigilator.

Roll Number

Signature of the Invigilator

[Turn Over]



Choose th

(3]

following (any thirty) :

k;

Fourteen lines of a Shakespearean Sonnet are divided into—
a) octave and sestet

b) seven couplets

¢) three quatrains and a concluding couplet

d) None of the above
What kind of poem “On His Blindness” is?

a) Ballad
b) Epic
¢) Sonnet
d) Ode

“On His Blindness” laments the : of Milton.

a) blindness

b) poverty
c) power
d) poetry

~ “Freedom” by G. B. Shaw is—

a)  an essay

b) a short story

c) anovella

d) a bildungsroman

The theme that Shakespeare eiplores in Sonnet XVIII is—
a) immortality of youth and beauty

b) carpe diem

c) death as an agent of nature

d) timelcssneés of poetry

What is the meaning of the word ‘untrodden’?
a) unexplored

b) hidden

c) hidden

d) explored

e correct alternative and put tick (/) mark beside the give
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What is the amount the authorities put as prize money for the head of the escaped

prisoner?

a)  Two hundred pounds
b) Three hundred pounds
¢)  Six hundred pounds
d) Hundred pounds

What type of slavery is therein choosing a father figure for our society?

a) Natural slavery

b) Man made slavery

¢) Both of them

d)  None of the above

Which laws restrict our freedom in a civilized society?
a) law of constitution

b) law of labour

c) law of freedom

d) all of the above

Do not let the man who is beast or who thinks he is
Complete the quote.

a) God

b) Christ
c) Strong‘
d) good

What does the speaker mean by "... oh The difference to me!"?
a) - the speaker is indifferent to Lucy's passing

b) the speaker is relieved by Lucy's passing

c) the speaker feels sadness and loss due to Lucy’s passing

d) the speaker feels excitement and anticipation

"... half hidden from the eye" What is/are "half hidden from the eye"?

a) violet

b) violet and Lucy both
¢) Luey

d) star
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“Shall I Compare Thee to a Summer’s Day” is—

a) Sonnet XXX ]
'b)  Sonnet XVIII £
c) Sonnet XX ]
d) Sonnet LIV D
Rhyme scheme of “Shall I Compare Thee” is—

I a) ababcdcdefefgg . O
b) aabbaabbcdecde ™

- ¢) abcdabcedefefgg bt
d) abaabacdecdeff =4
During which event was “Prayer before Birth” writtcn?.
a)  World War | )
b)  World War II 3
¢) Falklands War ]
d) WarinlIraq 3

Which one of these is NOT a plea from the first line of a stanza of “Prayer Before
Birth”?

a) console

b) reiease‘

¢) hear

d) forgive
For G. B. Shaw—

a)  everyone is a free person
b) anyone can be a free person

¢) some are more free than others

0 070 1 R 3

d) there is no such person and there never can be any such person
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Lucy is compared to a star in respect of*

a) fairness

b)  darkness
c) size
d)  warmth

Lucy's house is located beside the
a) Spring of Dove

b)  Spring of Mountain

¢) . River Nile

~d) River Thames

Lucy’s decease made a difference to—

a) the neighbours

b) nature
c) the poet
d) the few

What does “tall walls wall me” symbolize?
a) the sense of confinement

b) the fear of being born in a harsh world
¢) the need to build a life of your own

d) the draining away of humanity

Rhyme scheme of “On His Blindness” is—
a) ababcdcdefefgg

b) abbaabbacdecde

¢) abcdabcdefgefg

d) abaabacdecdeff

“For the that in me the world shall commit.”

a)  humanity

b) devil
c) lies
d) sins
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Which phrase is repeatéd throughout the poem?
a) ; I'am yet to be born

b) Iam yet not born

¢) Iam not born

d) Iam not yet born

The “darling buds" are shaken by rough winds in —
a) March

b) April

c) May

d) June

Rough winds in Summer days destroy
a) flowers

b) buds

c) | trees

d) fruits.

What kind of complexion does the sun have?
a) golden

b) yellow

c) blue .

d) red.

“Shall I Compare Thee" is written by
a)  William Sakespear

b)  Wiliam Shakespeare

¢)  William Shakespeare

d)  William Shakespear :

"Fair as a star" is an example of

a)  metaphor |

b) simile

¢) personification

d)  onomatopoeta

343/Eng.(C)
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30. Who is the poet of “On His Blindness"?
a) John Milton
b)  John Donne
¢) William Blake
d) EdgarAlan Poe
31. In which line of the poem, Wordsworth identifies ‘she’?
a) tenth line
b)  sixth line
c) twelfth line

BBl B o B L3

d) nowhere in the poem

32. “Thou art more lovely and more temperate.” The word ‘thou’ refers to
a) the poet’s ladylove

b) the poet’s friend
c) the poet’s mother
d) the poet himself.
33. After receiving the doll’s House, what do the girls plan to do at school?
a) boast about the doll’s house
b)  bring the doll’s house to school-
c) keep the doll’s house secret
d): bring the Kelveys home at recess
34. The rising of the moon is symbolic of-
a)  Irish literary movement
b) love and betrayal
¢) Irish uprising against the British
d) Irish freedom movement
35. In Wordsworth’s poem ‘Fresh as a rose’ is an example of-
| a) Paradox
b) Metaphor
c) Onomatopoeia
d) Simile
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